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QUESTION 1

Given: 

What is the result? 

A. myStr: 7007, myNum: 7007 

B. Error 

C. myStr: 9009, myNum: 7007 

D. myStr: 7007, myNum: 9009 

Correct Answer: C 

 

 

QUESTION 2

Given the code fragment: 

int[] array = {I, 2, 3, 4, 5}; 

And given the requirements: 

Process all the elements of the array in the order of entry. Process all the elements of the array in the 
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reverse order of entry. Process alternating elements of the array in the order of entry. 

Which two statements are true? 

A. Requirements 1, 2, and 3 can be implemented by using the enhanced for loop. 

B. Requirements 1, 2, and 3 can be implemented by using the standard for loop. 

C. Requirements 2 and 3 CANNOT be implemented by using the standard for loop. 

D. Requirement 1 can be implemented by using the enhanced for loop. 

E. Requirement 3 CANNOT be implemented by using either the enhanced for loop or the standard for loop. 

Correct Answer: DE 

 

QUESTION 3

Given the code snippet from a compiled Java source file: 

and this output: 
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Which command should you run to obtain this output? 

A. java MyFile 1 2 2 

B. java MyFile 2 

C. java MyFile 1 2 3 4 

D. java MyFile 2 2 

Correct Answer: A 

 

QUESTION 4

Given: 

What is the result? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 5

Given: 

public class TestLoop1 { 

public static void main(String[] args) { 

int a = 0, z=10; 

while (a 

a++; 

--z; 

} 

System.out.print(a + " : " + z); 

} 

} 

What is the result? 
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A. 5 : 5 

B. 6 : 4 

C. 6 : 5 

D. 5 : 4 

Correct Answer: A 
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